ASSEMBLY INSTRUCTION

Item NO.:IDAC-012-SC-DARK BROWN

gsvelwles

Assembly loosing
finger tighten, Do
not tighten until
assembly all legs.

mo B

PARTS LIST HARDWARE LIST

@ Seat F I pe AN Bolt(@1/4"*3-1/2" L) | 4pes
eat rrame e

WY Bolt(@1/4"*2-1/4" )| 4pes
% Chair Back Ipe

W] Bolt(@1/4"*1-3/4"L) | lpc
D Lock Washer(©1/4") 9pes
s )

Washer(@1/4"*19mm) 9pes

e Leg

izl Bes il el Blecll s

’\ Y Allen Wrench Ipc

MADE IN CHINA page:lofl




